2002-2003 7TH GRADE CONTEST SOLUTIONS Answiers

29. 4 0f 40 = 16 = 4x4 = 400% of 4. A)16 B)40 C)160 D)400 |2
30. 100000000 = 28 x 5%, Like all powers of 5 = 52, 5% ends in “25.” |30.
A) 0 B) 2 C) 4 D) 6 B
31. Try 1+2+43+4+5+6+7+8+9 = 45; it’s not divisible by 6. 3L
A) 1 B) 3 Q) 6 D) 9 C
32. He'll need 4 corner tiles, 10 tiles for each shorter
edge, and 14 more tiles for each longer edge.
He'll need 4+10+10+14+14 = 52 tiles.
A) 52 B) 56 C) 58 D) 60
33. 042=016<04. A)022 B)02* C)04 D)04*
34. The only such triangle has sides of length 2, 3, and 3. 4.
A) isosceles B) right C) obtuse D) equilateral A
35. Look for a pattern: (1/10)! = 0.1 has no 0; (1/10)2 = 1/100 = 0.01 | 35.
has one 0; (1/10)> = 0.001 has two Os. Similarly, (0.1)1%0 has 99 0s. B
A) 98 B) 99 C) 100 D) 101
36. Lance sells 60 bikes each month. Since 1/12 of 60 = 5 = 36.
1/3 of the racing bikes he sold, Lance sells 3X5 = 15
racing bikes each month. B
A) 20 B) 15 C) 12 D) 5
37. As shown, a circle can cross each side of a square twice. \ 37.
A) 2 B) 4 C) 6 D) 8 D
38. Possible distributions for (Ali,Bob,Carl): 38.
are: (3,0,0), (0,3,0), (0,0,3),
(2,1,0),(2,0,1),(1,2,0),(1,0,2),(0,2,1), (0,1,2),
and (1,1,1), This shows that I can C
distribute 3 pizza slices in 10 ways.
A) 8 B) 9 C) 10 D) 12
39. 48,..96 = 24 #s.9,18,..,.99 = 11 #s. 25,50,75 = 3 #s. 49,98 = 2#s. | 39.
We counted 36 & 72 twice each, so total = 24+11+3+2-2 = 38, B
A) 36 B) 38 C) 40 D) 44
40. The hour hand makes 2, the minute hand makes 24, and the 40. -
second hand makes 60x 24 = 1440 revolutions. C
D) 10104

A) 72 B) 733 C) 1466

The end of the contest &9
Visit our Web site at http://www.mathleague.com

on

Math League Press, PO. Box 17, Tenafly, New Jersey 07670-0017

/51_ % SEVENTH GRADE MATHEMATICS CONTEST
NIC

Tuesday, February 18 or 25, 2003 r
Contest Information
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